Intermediate Algebra — Chapter 8
Lesson 1, Day 1

Name

Solve the equation using square roots.
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Describe and correct the error in solving the equation.
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Name

Solve the equation by factoring.
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Solve the equation using any method.
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Find the zero(s) of the function.
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Name
Solve the equation using the Quadratic Formula. If possible, use a graphing calculator to check
your solution(s).
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Name

Graph the function. Label the vertex and axis of symmetry. 2\
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Use the axis of symmetry to match the equation with its graph.
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Intermediate Algebra — Chapter 8
Lesson 4, Day 2

Name

Find the minimum or maximum value of the function. Describe the domain and range of the
function, and where the function is increasing and decreasing.
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12. The engine torque y (in foot-pounds) of one model of car is given by
y = -3.75x% + 23.2x + 38.8, where x is the speed (in thousands of revolutions per minute) of the
engine.

agﬁg{ the ergme speed that maximizes the torque. Wha‘r is the max\ugurg torque?
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b. Explam what happens ‘1{ the engine torque as the speed of the engine increases.
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Write an equation for The area of the figure. Then determine the maximum possible area of the
figure.
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21 %(x) - 2(x - 32 2@ yL4(S) 7Y
7
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Identify the x-intercepts of the function and describe where the graph is increasing and
decreasing. If possible, use a graphing calculator to verify your answer. Q g_y;»opzn v U
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27. Compare the graphs of the three quadratic functions. What do you notice? Rewrite the

functions f and g in standard form to justify your answer \/\ 7'&) x .;L\ x+ 3
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Name

Ma'rch the inequality with its graph
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Lesson 5
Graph the system of quadratic meq(uah‘rles
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Solve the inequality algebraically.
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4aeas  dyLas  awPLas Lo ~ s
HeyLas OLQF 4UV)L;@§ ND_-___ B E\Je&'-
“’L:\)L?q el L";i)o”, —qoexe-l
% |gexe g e
17, 3 — 11x > — 284 8 3x23- 190710 4 D>
e e ! Gt Yo 350 L 3
= 1)’(=+Lli Tect 7 X=3 x=3 et Y
{0 . e | st 8 st
q) i 5(‘,-—(&02 a8 8"qq2 -a3 O>-10 3 4)"3‘4)"10 30!‘) _53>-10
Y% ..3?2,355, —-132-23 Yes! (Ia-gby-m 49 -SQ -1
Nol Yes ! 5-1D |
— > o ’lﬁ‘do’ -4 >-10
_K%M &L 3Ion X523 ) ° ‘\)«QSL
19. 3x2 — 8 < — 2x iﬂ' cu%)%x3+2x22
3x%4 -’30 -7 )
(@x - Yx 3 =0 7 Tj@o,
X= % = '3
Teosit -4 TS0 ’@j{%‘"gl})
gpar-apd VT IS
-8E8 T30 994 Lol
Ha-3£3 Yeol 19¢ L
H\%”‘3 Mo,a
Do
| L B- \



Intermediate Algebra — Chapter 9
Lesson1, Day 1

Solve for y = f(x) for x. Then find the input(s) when the output is -3.

1.LF(x)=3x+5

Y=3x+rg -5
S

- 3
-5 3Y \ =%
3_55%. | 3|

Z
T A

3.f(x)=4x-3

_ X _,% AN 6
43 8%+ -L*o
o (V3 3x (3 T
Byle =X
5. f(x) = 2x* - 5 315
yax-g Ue
xS ak] U 2
Y 3
= oA
W [

2.F(x)=-7x-2

L 54
> 49 =
g A T Y
T ==
'. i‘_"& 'x “;
7
4. F(x)= =x+1 3/a\.%
Y""' ‘Q‘)H' ( a(«3\ e
Lo 97 -1-3
JNe 2,72 X
aQ-E(®) L T
3y 2= =
- a8

6. F(x) = (x - 5)° -1
V= (x5)*]

Q.i_.ja- \ ‘-:_____’j \
£y 2x-5)?

Oy s Xz
|y 4527

o <5




Intermediate Algebra — Chapter 9
Lesson 1, Day1

Find the inverse of the function.

7.f(x)=3x-1

X:%y—\

3Q<+\; 3y (33

Determine whether each pair of functions f and g are inverses. Explain your reasoning.

i

9.

11.

X -2 -1 0 1 2 o
Y -2 1 4 7 10
X -2 1 4 7
Y -2 -1 0 1
\

Ve
X |4 |2 |0 |2 |a
Y 2 10 18 26 34
X |-4 |-2 |0 |2 |4
Y 3 1/10 |1 1/18 | 1/26 | 1/34

No!

10.

8.F(x)=—Zx+ ¢
- Myt
X= 5Y*S
-\ -4
S s

X 2 3 4 5 6
Y 8 6 4 2 0
X 2 3 4 5 6
Y -8 |-6 [-4 |2 0




Intermediate Algebra — Chapter 9
Lesson 1, Day 2

Find the inverse of the function. Then graph the function and its inverse.

-
1. f(x) = 4x% x @0

b
2. F(x) = 9x% x 00




Intermediate Algebra — Chapter 9
Lesson 1, Day 2

*x‘i\ 4, F(X) = (x - 3)3

Iy =y r32Y |
G 4y L% 35 15=013 =3 (01%)
f15) = J6 -4 =4 (04) = -y m))
grusu=3 (03) g Fgaze S O
S g -4 =au=-2 (8,-2) 1) = 3 43244328 (3)
B 1 =5 (i) Fla)= 23 3 3=l (3 D)

+eh Bﬁfq. -l -l (-8



Intermediate Algebra — Chapter 9
Lesson 1, Day 2
Use the graph to determine whether the inverse of f is a function. Explain your reasoning.

L. +.
5 10 6. 2

18 e .1

v/

No, dees ot Ses, Pugses HLT
POSS WLT

Determine whether the functions are inverses.

7. f(x)=2x-9; g(x)=2+9 8. F(x)= == g(x) 4x + 3
a3+ @2‘:@‘_395 x =x
L
¥+3 -9
N 23D %343 58V

}
No. Yes)

9. f(x) = 5’“9 g(x)=5x°-9 10. F(x)= 7x¥%-4; g(x) = (x+4)3’2

N 5| B _,\,,J— XV ‘7(“”33/33/"' 7(’515)

SR SS(%PW«) No-

¥44-Q =X V

Yes !



intermediate Algebra — Chapter 9
Lesson 2

Find (f + g)(x) and (f - g)(x) and state the domain of each. Then evaluate f + g and f - g for the
given value of x.

1. f(x) = =5Yx; g(x) = 19Vx; 2. f(x)=6x-4x2-7x3 g(x)=9x3-5x;
-1

@-*3)6\);: »165?5{* Ay =) |4W§ (&5}&1 =gy _%:f;({sﬂ{;‘%@

- U; = 4 g —-—

) ()= -5 9% -19x S Y i -l =[] ‘
@s;?ﬁ);w\ = -at e H-IHR) @—3)(8 (k-4 153 (x50
X - -

3 "3_)5)( =y
E@a_qxaﬂlxi

“;\.Q - 1 l:>
e :'\UL"\Z'L“"” “EL n _u-ll=

13-} =

3.f(x)= V2x; g(x)=-11V2x 4, g(x)=11x+2x% g(x)=-7x-3x’+4

x=-4 x=2
(Feg) ()= Dan- 1 Vax S-10 ¥\ Q9= |4 +3FP-Tx" A% Y
£1-u) = -0V B -1003 2 A0LB)=7 @q S
'S = 9~+ A=) > =
)= -G Y SRL

S0 T+ | oo llaV WERWENETIOS

Q-u\: \a% 2 \Q%Fé =) \Q(Ta) C;'ﬁ)("\‘&\ LA TN +%Q_L{ -
\ﬁ | 53+ 13x M)

) =55 YD S A3
et %Lt;rsxo-q 35,4 =




Intermediate Algebra — Chapter 9
Lesson 2

Find (fg)(x) and (5)(x) and state the domain and range of each. Then evaluate fg and f,for' the

given value of x.

5. f(x) = x* g(x) = 9x/? 6. f(x) 11x3; g(x) = 7x7/3; _
x=9 3| e
CYOERN L) = Qx (@u = llx5(7x )y Tk 7183
(D= QO G (3= %%8@ %3\«{7‘1(—835 ST
(% =) X ‘L—D \—Lj] Y /2_“ Sl L065‘3Q L@(Dqtg&’)')/
T adin (50 5. 1,303
2 4
a3 &(C) ‘%q(% Sk A7) SLa)e Dia s Loy B
1a4 =4
. iR
7.f(x) = 4x*%; g(x) = 2xV2; R 8. f(x) = 7x%/2, g(x) = -14x"?, .
'x=16 2 x =64 +
Yo (3> B =[BT () A
)3 3(16fr28ET=> 20a) 5|-98x"

j ) = O?%\(pq = qg(qoq(ﬂ)

B £h 08920 (£ -3

Yy _ -
L) a% 15 Qe 1B o) = S = -32)



Intermediate Algebra — Chapter 9
Lesson 5, Day 1

Name Date
Use log; 4 =~ 0.712 and log7 12 =~ 1.277 to evaluate the logarithm.

1 log; 3 \kﬂ ) 2. log748q% \ \a l_.‘
3> 1 '—l - = Cq
\Og \'a \Oij'-\ 5L ATI-0M\] \%'5_7\3.\_ 0@ —3\.3’77‘%0'7‘3*

e N {qﬁé? ;'

3.log; 16 \ 4. log, 64 LI.S“
\(D)'l\\o = O%.,q' = [gq__,[o‘-{ =) \%7 \ =) .\a_‘)
a\og,t 2 3(0113) 3\ "

4ay | 36

5 10g7 6.llog7-;7l \Oa E‘% ‘37
413 ‘4 G 7
\oc:g_, a- (OC:.‘, \a*\m\h"r} =) O?S%u- \og, 13 =)

1)Y= - 1T
LT - C\&‘D+D7 )= 011 - 1371

Match the expression with the logarithm that has the same value. Justify your answer.

7.logz6—logz 2 / A.log; 64
8.2log; 6 . e \\ B. log; 3

9.6log;2 €. log; 12

e

— -\-“‘\
10. log; 6 +logz 2 \D. logz 36



Intermediate Algebra — Chapter 9
Lesson 5, Day 1

Expand the logarithmic expression.
11, logs 4x

log4 + 109,

13. lnﬁi‘tz

Qnu-y% Ay )- U\\n\/

Condense the logarithmic expression.

15. In 12; 4
\Y'\ t

0

j
4 e T

7.6 In2-4Iny

\nav- Aoy
G

e s

19. logs 3 + ilogs x

loogd +\oggr 2

ooy 2 |

.-
Lo

12. In 3x*

In 2+ 1iNx

14. Logs 3/x2y, |
LR x%y ;
Slogrr %\09%{

16. 2 log x + log 11

18.5In2+7Inx+4Iny
a1y +lny

AnBaxy T

..--"d-‘-_'_.-’_-_

\'0334+ | ogﬁ 3% =+ \095 X
10@9}% (¥
' \O;’ _';é)i_;



Intermediate Algebra — Chapter 9
Lesson 5, Day 2

Name

Date

1. Which of the following is not equivalent to logs 5? Justify your answer.

®4log5y — logs : 3x i \DC;W

@4 logs y —logs 3 + logs _L

®4 logs y —logs 3 —logs x

@logs y* —logs 3 — logs x

I = oggﬁ

Y
4t loggr s 09X

2. Which of the following equations is correct? Justify your answer.

Dlog, x +2 log, y = log,(x + y?)

I®é'1'" 21 log X
L Og X — O-g y— Og J’_z_)

®s5log, x + 7 log, y = logg x5y7

@logg x—5logey = log.,%

Use the change-of-base formula to evaluate the logarithm.

3.log, 7

e .
%éqrv\\%%

5. logg 22

4. logs 13

\ \ —~ =

6. log, 28

m&% 1,307
&9

Eiﬁmh-\ 253
(g >



Intermediate Algebra — Chapter 9
Lesson 5, Day 2
9. Let f(x) = x* and g(x) = x2. Find (fg)(x). Then evaluate the product when x = 3.

()00 X102 X=X |
£(2)=> 3% =739

10. Let f(x) 4x6 and g(x) = 2x3. Find (—)(x) Then evaluate the quotient when x = 5.
[3 LX)——B 2,3 DK = ax
FS)> APy Q8= [ASC |

11. Let f(x) = 6x3 and g(x) = 8x3. Find (f + g)(x)..Then evaluate the sum when x = 2.

(S (o3 U / 3

: PN
= 11Bj= H:?

12. Let f(x) = 2x? and g(x) 3x2. Fmd (f g)(x) Then evaluate the different when x = 6.

(902 x-3X= 7 |
SUN = (LR > 300,



Intermediate Algebra — Chapter 9
Lesson 6, Day 1

Name

Solve the equation.
1, 73%x+5z 7l-x

3HAS= =%
+x -5-StX

X o \’)8

5.11% = 38

\ ex_ loq 273
W\¢j 3’809"

Cox = L;_ \{

(Qx WS
b

Date

262x 6_ 3x5

(Oaw (Q;ztsx-S)

Ao = Q(Sx—‘*)

A

-Yx="Y
Flomsrs

X=))

4, 512;251—)) T uex
-
H =3

o \\jqa
= 9

X% o |




Intermediate Algebra — Chapter 9
Lesson 6, Day 1

7. The length | (in centimeters) of a scalloped hammerhead shark can be modeled by the
function | = 266 - 21909, where t is the age (in years) of the shark. How old is a shark that

is 175 centimeters long? _o0StE \\p LQ% -0.05t
15 = Slee A T > N

Svoad -3 LSk
Y |=-29e T
..5_\'5‘\' -\ r‘} S | . '

-—O;Ds{:‘ U ' ' . - ]

8. One hundred grams of radium are stored in a container. The amount R (in grams) of radium
present after t years can be modeled by R = 100e"%%°43". After how many years will only 5
grams of radium be present?

"5 |poe O —s 44 = t
00 \DD | :
L09=€  _pooM3t
\‘”@abg:‘\ﬁe /
e T . J.OUOL'\%’C J

9. You are driving on a hot day when your car overheats and stops running. The car overheats at
280°F and can be driven again at 230°F. When it is 80°F outside, the cooling rate of the car is
r = 0.0058. How long do you have to wait until you can continue driving?

YOW not ndude Beruwon (S



Intermediate Algebra — Chapter 9

Lesson 6, Day 2

Name

Solve the equation.
1. In(4x - 7) = In(x + 11)

Ux <7 =x+ 1|

-% 47 X 49

dx= 12
3 3
"-t:y;bf)

3.log(7x + 3) = log 38

TIX+Y = B
"3

5. logs(5x +10) =4

G5 (Sxd=gH

X+\0 - Las
-\0 =\O
%z_x LS

c;;"

7. log(12x - 9) = log3x

|Ax-1= 3x
X ~1ax

Date

2. Iog2(3x 4) = log25

-ﬁ ¥4

S

L X=3)

4 Logz;(2x+1)=2

3\/0,%(& XAV - 33
Ax+l =9

-\ - I
%= ‘ﬂ

6. Logs(5x +9) = logg 6x

6A+‘? (oX
2y

\9_1)

8.log;(x% + 9x +27) =2

o9 (XHx+3M - 23

x 49X 1@3] ff
X 49x+ 1320

Cm—@(xﬁ O
| X==b(|X="3/



Intermediate Algebra — Chapter 9
Lesson 6, Day 2

Solve the equation. Check for extraneous solutions.

AT~ S 10Nagd D lodatnt 36 D

Solve the inequality.
11. 9%> 54 12. logyx < 4

g A" )\u: o4 Lyt Luﬁ
XSt XL

X>\\?\€

\ 13.;::4;11\ \\ 14. 4log5x:t_53> 3‘§
e 0 -Yloax 2 3
?)x_tt\’ﬁ QL‘?)C‘% _‘qmjs L:g,:)
p o « L -
30~ ek .ie;'a
‘29_ 0153 ig{; o

You W*\PW awl/l
is ybur/balanc least



